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1. XOiEZEX. (S5, AK15108, B 15408, C#2530% )

(1) 2° x 2° (2) 8 =47

(3) (—=t)* x (—t?) (4) n®+=n®xn

() (=y*)?+y° (6) (2?)° =+ (27)* + (2?)°

(1) (—22) = (—2%) = (2®)% x (8) —a” + (—a®)* x (—a)* +a?
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2. RXOitEEE L (S5, A175108, B 15408, C#25 308 )

(1) 25 x 2© (2) 5 =16

(3) (—t)3 x (—t?) (4) n®+n" xn

(5) (=¢*)?+y° (6) (2%)* + (=a)? = (=2?)
(7) (—2%)0 = (—2%) = (2%)3 x (8) —a*+ (—a®)? x (—a)"+a
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RETAL XFRA BHEEA TR BRE 03 BEES

ROGHEZE XK. (S48, A1 108, Bfk143 408, C#%2530% )

(1) z® x 2°
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(3) (=t)* x (—t?)

=t* x (—t?)
— ,t4+2
=-t* &Z

(4) n®=nxn

6) (22)° =+ (27)? = (a2)?
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(8) —a” =+ (—a*)* x (—a)* +a®
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2. RXOitEEE L (S5, A175108, B 15408, C#25 308 )

(1) z8 x 28 (2) >+t
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(3) (=t)® x (—t?) (4) nP=nttxn
= 13 x (—2) _n’xn
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(5) (—y)2 =S 6) (23)* = (—2*)? = (—2?)3
— b yb =212 & (428) = (—a)
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(1) (—23)8 + (=2%) = (233 x x 8) —a*+(—a®)? x (—a)" +a
=42+ (2% + 2% x 2z =—a*+(-a°) x (—=a") +a
__a¥xu __a*xad’

x® x 9 a® X a
19 ol
= 214 = 10
— —a5  BZ =—a —&X
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